User Manual

X




You need

@ Tools required

A Phillips head scre
wadriver is required for
the assembly of this

product. (not included)

Power tools should
not be used to assemble
this product.

® 1 person is needed

Hardware List

Technical Specifications

Brand JAXPETY

Size 480*350*600mm

4 N\ [ \\\ N\ [/ N\ [ i N\
< | 0| C
LD | pc J @ [2pcs JL @ | tpc J| @ | 1pc |
'd N\ N [ N\ N\
L ® | wpc Jl® | 1pc Jl @ | 1pc J| ® | 1pc |
4 N\ [ H N\ [/ / N\ [ / N\
L@ | pc Jl® | tpc Jl @ | 1rc Jl @ | 1pc

e — N e N
‘ gy &
M5X45 @8X40
@ | 1rc J{_ A |2apcs]| B |24pcs ) C | spcs |
>
>
_ D | 1rc | L F | 1pc
'd N\ [ N\ [/
S
M312
H | wpc J{ I [2pcs | J

5X45mm bolt installation

@ Bolt

Insert bolt when Adju

Such condition as

B

Connecting piece undet direc
i
\

Connecting
® piece
& =

STEP.2

2

STEP. 3




JAXPETY JAXPETY

/\ Check the package contents before getting started ! STEP 3
STEP 1 _ . .
g
[ % W{ w{ % l M5X45
M5X45 @8X40 _ A [4pcs J| B [ 4pcs
L A |apcs ]| B |apcs || ¢ | apcs |
ﬁ *Hammer isn't inside
Accessary Pack
[
== = Q%
: S5 ,
( 7
1 2 3

1R
(A | 4pcs J(_B | 4pcs )




STEP 4 STEP 5
S FAENEAEs
LA [apcs J{_ B |4pcs J( c | 4pcs ) LG Japcs J[ J Jercs J{ F Jarc J[ 1 T 1pc

Left Door Open / Right Door Open
/




PRODUCT ASSEMBLY

STEP 7

PRODUCT ASSEMBLY

STEP 6

L A |4pcs J| B |apcs || K | 4Pcs |

L A |4apcs J| B | apcs |




STEP 8 STEP 9

-

/ ) /@7”\\< // &}
Right Door Open /\>//
\ ,,
o 7
s ’ ’
e

Right Door Open

Left Door Open

D Left Door Open

Final Assembly

|
9 10




